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Interview Questions & Answers

1. What is the output of the following code snippet?

Intx=75;
X = ++X - X++;
System.out.println(x);
A) 10
B) 11
qo
D) 13
Answer: C

2. Which keyword is used to define a class in Java?

A) class
B) public
C) static
D) void
Answer: A

3. What is the default value of an uninitialized variable in Java?

A) null

B)O

C) false

D) It depends on the data type

Answer: D

4. What is the difference between == and equals() method in Java?

A) == compares the references, whereas equals() compares the values of the objects.
B) equals() compares the references, whereas == compares the values of the objects.
C) Both are used to compare the values of the objects.

D) None of the above

Answer: A

5. Which of the following is not a primitive data type in Java?

A) int
B) float
C) double
D) string
Answer: D
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6. What is the output of the following code snippet?

inta=5;intb=7;
System.out.printin(a & b);
A)O
B) 1
C)5
D) 7

Answer: C

7. Which of the following is not a type of loop in Java?

A) for loop

B) while loop

C) switch loop

D) do-while loop
Answer: C

8. What is the purpose of the static keyword in Java?

A) It is used to define a constant.

B) It is used to define a class variable.

C) It is used to define an instance variable.

D) It is used to define a method that can be called without an instance of the class.

Answer: Band D

9. What is the difference between a class and an object in Java?

A) A class is a template for creating objects, whereas an object is an instance of a class.
B) A class contains data members and member functions, whereas an object only contains data
members.
C) Both are same.
D) None of the above.
Answer: A

10. What is the output of the following code snippet?

String str = “Hello”;
System.out.printin(str.charAt(1));
A)e
B) I
Qo
D)H

Answer: B
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